
1

SSC TEST SERIES-6
Part-A. GENERAL INTELLIGENCE AND REASONING

f)
Directions (1–10) : In each of the following questions, select the related
letter/word/figure/ number from the given alternatives.

(1 10)

1. Oval : Circle :: Rectangle : ?

(A) Triangle/ (B) Square/

(C) Periphery/ / (D) Pentagon/

2. Cub : Bear :: Joey : ?

(A) Cave/ (B) Doll/

(C) Kangaroo/ (D) Truck/ ª
3. ? : Wrist :: Belt : Waist

(A) Arm/ (B) Hand/ (C) Bend/ (D) Bracelet/

4. Ramp : Highway :: ? : House

(A) Traffic/ ªS (B) Head/ (C) Door/ (D) Speed/

5. Vamp : Shoe :: Hood : ?

(A) Jacket/ (B) Car/ (C) Clean/ (D) Crook/

6. ? : Poem :: Fable : Story

(A) Epic/ (B) Poet/ (C) Haiku/ (D) Rhyme/

7. AFKP : BGLQ :: CHMR : ?
(A) DINS (B) DFKP (C) DNIS (D) EJOT

8. 18 : 162 :: 36 : ?
(A) 984 (B) 1296 (C) 72 (D) 648

9. 9536 : 6203 :: 5873 : ?
(A) 2540 (B) 2343 (C) 2353 (D) 2531

10. Amnesia : Memory :: Paralysis : ?

(A) Legs/ (B) Handicapped/

(C) Movement/ (D) Limbs/

Directions (11–18) : Find the odd word/letter/ number from the given
alternatives.

11. (A) 41-72 (B) 12-30 (C) 42-51 (D) 11-20

12. (A) Varanasi/ (B) Nagpur/

(C) Haridwar/ (D) Allahabad/

13. (A) 222 (B) 10 (C) 68 (D) 125
14. (A) FIK (B) DGI (C) MPR (D) KND

15. (A) Phycology : Algae/

(B) Ornithology : Birds/

(C) Mycology : Fungi/

(D) Acoustic : Ear/

16. (A) Plant : Flower/

(B) Chair : Sofa/ (C) Face : Eye/

(D) Stream : Tree/

17. (A) Kennel / (B) Stable/ (C) Lock/ (D) Den/

18. (A) 527 (B) 639 (C) 246 (D) 356
19. Number of letters skipped between adjacent letters if the series

increases by one. Which of the following series observes this rule ?

(A) WBKQXYF (B) WYBFKQX (C) YBQQFHN (D) WZCHJMQ
20. Choose the correct alternatives from the given ones that will complete

the series.

a_c_baab_cb_
(A) abbc (B) abab(C) aabb (D) bcca

21. If the letters of the English alphabet are serially numbered, one of the
answer given below has a meaningful word hidden in it. Identify the
answer.

(A) 13, 8, 9, 17, 14, 22 (B) 1, 12, 7, 5, 2, 18, 1
(C) 1, 7, 5, 12, 18, 1 (D) 4, 21, 7, 18, 13, 1

22. Following words are written in a code language. Study them carefully
and find out the word in the given code.

CAR- , SIT- , WELL- i, MAP- ,
Given code : 
(A) LAMP (B) LAME (C) LAMA (D) LAMB

23. Some equations are solved on the basis of a certain system. Find the
correct answer for the unsolved equation on that basis.

5 × 8 = 28, 3 × 7 = 12, 8 × 6 = 35, 13 × 13 = ?
(A) 169 (B) 130 (C) 140 (D) 144

24. Select the correct combination of mathematical signs to replace *
signs and to balance the given equation ?

*

13 * 12 * 5 * 4
(A) = – + (B) = + –(C) + – = (D) – = +

Directions (25-27): From the given options choose the
missing number/letter.

(25-27):
25.

4 7 9
8 6 8

3 7 9

35 49 ?

(a) 63 (b) 89 (c) 81 (d) 64
26.

7 6 8
5 4 9

3 2 1

83 56 ?

(a)146 (b) 128 (c) 136 (d) 148
27.

15 225 30
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7 70 20

3 ? 8

(a) 70 (b) 12 (c) 16 (d) 24
28. I am facing East. I go 20 metres, then turning to the left I go 20

metres, then after turning to the right I go 40 metres and then I go
40 metres to the right. Now in which direction am I from my original
position ?

(A) North-West/ (B) West/

(C) South-East/ (D) East/

29. Statements/

All women are cats.

All cats are rats.

Conclusions/

I. All women are rats.

II. All rats are women.

(A) Neither Conclusion I nor II follows
I II

(B) Only conclusion I follows
I

(C) Only conclusion II follows
II

(D) Both Conclusion I and II follows
(1) (2)

30. If “SEQUENCE” is coded as “HVJFVMXV” then how will “CHILDREN”
be coded in the same code ?

“SEQUENCE” “HVJFVMXV”

“CHILDREN”
(A) MVIWORSX (B) XSRMWIVM(C) XSROWIVM(D) DSROWIUN

31. Pointing to a man in a photograph, a woman said, “His brother’s
father is the only son of my grandfather.” How is the woman related
to the man in the photograph ?

(A) Daughter/ (B) Mother/ (C) Aunt/ (D) Sister/

32. Mrs. Lata devi was 3 times as old as her son 8 years ago. Their total
age is 64 years now. How old (in years) is Mrs. Lata now ?

(A) 48 (B) 12 (C) 36 (D) 44
Directions (33-35): Find the missing number (?) from the

given options.

(33-35):
33. 5, 11, 21, 43, 85, ?

(A) 185 (B) 170 (C) 171 (D) 181
34. 12, 27, 85, 345, ?

(A) 1737 (B) 1380 (C) 1725 (D) 1731
35. ADGJ, YVSP, KNQT, ?

(A) SVZB (B) QTWZ (C) OLIF (D) LORU
36. Rahul travelled from a point and goes straight to point ‘Y’ at a distance

of 90metres. He turned right and walked 40 metres, then again right
and walked 70 metres. Finally, he turned right and walked 40
metres. How far is he from the starting point ?

Y

(A) 70 metres/ (B) 10 metres/

(C) 20 metres/ (D) 30 metres/

37. Four positions of a dice are given below. Identify the number at the
bottom when the number on the top is 2.

(A) 6 (B) 3 (C) 4 (D) 5
38. Statements/

The values of an educated person will differ from that of an
uneducated person.

Assumptions/
I. Education influences an individual’s values.

II. An uneducated person will not have values.

(A) Neither I nor II is implicit
I II

(B) Only assumption I is implicit
I

(C) Only assumption II is implicit
II

(D) Both assumptions I and II is implicit
I II

39. Which of the following diagrams indicates the best relationship
between Teacher, Writer and Musician ?

(a) (b) (c) (d)
40. In the following diagram, Square represents  Doctors, Circle

represents Players and Rectangle represents Artists. Which number
represents those Doctors who are players as well as Artists ?

(A) 7 (B) 2 (C) 3 (D) 6
41. Which piece of paper will appear as question figure when folded and

cut as show below in answer figures. From the given answer figures,
indicate how will it appear when opened ?

Questions figure :
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Answer figures :

(a)              (b)            (c)             (d)
42. Find the number of triangles in the given figure ?

(A) 8 (B) 10 (C) 12 (D) 14
43. Find out which of the answer figures (A), (B), (C) and (D) can be

formed by using the pieces given in question figure?
(A), (B), (C)

(D)
Questions figure :

Answer figures:

(a) (b)            (c) (d)
44. Identify the figure that completes the pattern of the question figure ?

Question figure:

Question figure:

(a)                (b)                   (c)                  (d)
45. A woman says, “If you reverse my own age, the figures represent my

husband’s age. He is, of course, senior to me and the difference
between our ages is one-eleventh of their sum.” The woman’s age is

1/11

(A) 23 years/ (B) 34 years/

(C) 45 years/ (D) None of these/
46. Point out the word which can be formed from the letters of the given

word in capital letters.

BLANDISHMENT
(A) BOARD (B) METALIC (C) SHADE (D) CRASH

47. Which of the answer figure is the right mirror image of the question
figure ?

247596

(a) 695742 (b) (c) (d)
48. Which of the following finished patterns can be obtained from the

question figure shown below ?

Questions figure :

Answer figures :

(a)             (b)               (c)            (d)
49. Five bells begin to ring together and ring respectively at intervals of

6, 5, 7, 10 and 12 seconds. How many times will they ringtogether in
one hour excluding the one at the start ?

6, 5, 7, 12

10

(A) 7 times/ (B) 8 times/ (C) 9 times/ (D) 11 times/

50. A word is represented by only one set of numbers as given in any
one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of letters as in two matrices
givenbelow. The columns and rows of Matrix-I are numbered from 0
to 4 and that of Matrix- II are numbered from 5 to 9. A letter from
these matrices can be represented first by its row and next by its
column. E.g., ‘A’ can be represented by 02, 14, 33 etc., and ‘K’ can
be represented by 57, 69, 88 etc. Similarly, you have to identify the
set for the word ‘SAME’.

I

0 4 II

‘A’ 02, 14, 33

‘K’ 57, 69, 88

‘SAME’

Matrix/ I Matrix/ -II

(A) 20, 23, 86, 95 (B) 13, 30, 67, 69
(C) 32, 14, 67, 89 (D) 44, 40, 95, 57

PART-II. (GENERAL AWARENESS)
51. Social ownership of means of production is a feature of

Glheeove keâs meeOevees keâe meeceeefpekeâ mJeeefcelJe Skeâ efJeMes<elee n
(a) Capitalist economies, (b) Socialist economies,
(c) mixed economies, (d) Barter economies

52. The value of percentage  change in the quantity  demanded divided
by  the percentage change in the own price is known as
cee@ieer ieF& cee$ee ces heÇefleMele heefjJele&ve keâes Deheveer keâercele ces heÇefleMele heefjJele&ve mes efJeYeeefpele
keâjves keâs cetuÙe keâes keânles nw
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(a) Elasticity of demand,(b) Market elasticity of demand,(c) price
elasticity of demand,(d) income elasticity of  demand

53. Which direct tax among the following gives maximum net revenue to
the Government?
efvecve ces  mes keâewve-mee heÇlÙe#e keâj mejkeâej keâes DeefOekeâlece Meg®Deele oslee nw?
(a) Corporate Tax, (b) income Tax,(c) Wealth Tax,(d) Gift Tax,

54. An increase in the Autonomous Government expenditure has direct
impact on
mJeÙelòe mejkeâej keâs KeÛe& ces Je{eslòejer keâe meerOee heÇYeeJe efkeâme hej neslee nw?
(a) aggregate supply of consumer goods,(b) aggregate demand in
the economy, (c) total savings of the people, (d) total  investment in
the capital goods industries

55. Which of the following is not a function of commercial Bank?
efvecve ces mes keâewve-mee JeeefCepÙe yebwkeâ keâe keâece vener nw?
(a)  To receive the public deposits,
(b) To provide loans to needy persons,
(c) To operate as the custodian of Foreign Exchange,
(d) To mobilise the savings of the public into productive uses

56. What is the mode of election of the chairpersons of the Panchayats?
hebÛeeÙelees keâs DeOÙe#ees keâs ÛegveeJe keâer keäÙee efJeefOe nw?
(a) Their election is left to discretion of state Governments,
(b) They are directly elected by the electorate age 21 and above ,
(c) they are indirectly elected by members of respective
panchayats,
(d) they are nominated by Gram Pradhan

57. Healthy public opinion contributes to the success of
mJemLe pevecele efkeâmekeâer meheâuelee ces Ùeesieoeve keâjlee nw?
(a) authoritarian government ,
(b) democratic government,(c) autocratic government,(d) monarchy

58. One –third of the members of the Rajya Sabha retire after every
jepÙe meYee  keâs Skeâ efleneF& meomÙe efkeâleveer DeJeefOe keâs yeeo efjšeÙej (mesJee -efveJeÇeflòe)
nesles nw?
(a) one year,(b) second year,(c) third year,(d) fifth year

59. Who administers the oath of office to the President?
je<š^heefle keâes heo keâer MeheLe keâewve efoueelee nw?
(a) Chief Justice of India,(b) Speaker of Lok Sabha,(c) Prime
Minister,(d) Vice- President

60. Which of the following States has the largest representation in the
Lok Sabha?
efvecve ces mes  efkeâme jepÙe keâe ueeskeâ meYee ces meyemes DeefOekeâ heÇefleefveefOelJe nw?
(a) Bihar,(b) Maharasthra,(c) Madhya Pradesh .(d) Uttar Pradesh

61. The following period is referred to in Indian History  as the ‘Gandhain
Era’:
efvecve  keâeue  YeejleerÙe Fefleneme ces ‘iee@bOeer keâe keâeue‘ keâne peelee nw
(a) 1885- 1905, (b) 1905- 1919 , (c) 1845-1885, (d) 1920-1947

62. The first Anglo-Sikh war was fought  (between  the English and the
Sikhs) during the Governor-Generalship of
henuee Deebiue -efmeKe ue[eF& (DeieÇspees Deewj efmeKees keâs yeerÛe) efkeâme ieJe&vej -pevejue keâs
keâeue ces ue[e ieÙee Lee?
(a) lord Cornwallis,(b) Lord Ellenborough,
(c) Lord charles Metcalfe,(d) Lord Hardinge

63. Who created a territorial base for the Portuguese in India?
Yeejle ces hegle&ieeefueÙeebs keâs efueS heÇosefMekeâ DeeOeej efkeâmeves yeveeÙee Lee~
(a) Vasco-da-Gama, (b) Albuquerque,(c) Almeida,(d) Cabral

64. Which of the following languages was used by Asoka for
administrative and social purposes?
DeMeeskeâ Éeje efvecve ces mes efkeâme Yee<ee keâe heÇÙeesie heÇMeemeefvekeâ Deewj meeceeefpekeâ GoosMÙees keâs
efueS efkeâÙee ieÙee Lee~
(a) Prakrit,(b) Kharosthi,(c) Sanskrit ,(d) Pali

65. The last Governor–General of India was
Yeejle keâe Deefvlece ieJeve&j-pevejue Lee
(a) Lord Wavell,(b) Dr. Rajendra Prasad,(c) Lord Mountbatten,(d) C.
Rajagopalachari

66. The rate of Earth’s rotation on its axis is highest on
Deheves De#e hej he=LJeer keâs IetCe&ve keâer oj DeefOekeâlece nesleer nw
(a) January 3,(b) December 22,(c) July 4,(d) None of the above as it
never changes

67. Which river used to be known as ‘Sorrow of China’?
efkeâme veoer keâes ‘Ûeerve keâe efJe<eeo‘ keâne peelee Lee?
(a)  Mekong,   (B)  hwang- Ho,(c) Yangzi,(d) Sikiang

68. Geysers erupt due to
ieerpej heâtš peeles nw
(a) Hvdrostatic pressure,(b) Geothermal energy,(c)  The breaking of
rocks,(d)  Seewage of rain water

69. Which of the following fibre crops is grown on black soil?
jsMes keâer efvecve ces mes efkeâme heâmeue keâes keâeueer efcešer hej GieeÙeee peelee nw?
(a) Cotton,(b) Jute,(c) Flax,(d) Hemp

70. Which one of the following is not a natural ecosystem?
efvecve ces mes keâewve-mee heÇekeâ=eflekeâ heeefjefmLeeflekeâ-lev$e vener nw?
(a) Forest,(b) Grassland,(c) Marshy land,(d) Aquarium

71. Leafy vegetables provide adequate
hellees Jeeueer meefypeÙee@b osleer nw heÙee&hle cee$ee ces
(a) Fats, (b) Iron,(c) Proteins,(d) Carbohydrates

72. The process of liberation of energy in human body by oxidation of
food is called
Yeespeve keâs Dee@keämeerkeâjCe Éeje ceeveJe Mejerj ces Gâpee& ceesÛeve keâer heÇefkeäÇâÙee keânueeleer nw
(a) Respiration, (b) Digestion, (c) Fertilization,(d) Absorption

73. Pecten is found in
heskeäšsve heeÙee peelee nw
(a) Reptiles,(b) Birds,(c) Amphibia,(d) Mammalia

74. After their action hormones in the body are
Deheveer efkeäÇâÙee keâs yeeo Mejerj ces ne@cees&ve
(a) recycled,(b) destroyed,(c) absorbed,(d) used as catalysts

75. Which is an insectivorous plant?
keâewve-mee keâeršenejer heeohe nw?
(a) Helianthus,(b) Strobilanthes,(c)Nepenthes,(d) Hibiscus

76. The blood vessel having smallest,  diameter in the body is
Mejerj ces vÙetvelece JÙeeme Jeeueer jkeäle -Jeeefnkeâe nw
(a) Vein,(b) Artery,(c) Capillary,(d) Arteriole

77. Which of the following cannot be polarized?
efvecve ces mes efkeâmekeâe OeÇgJeerkeâjCe vener efkeâÙee pee mekeâlee?
(a) Sound waves in air,(b) Radio waves ,(c) Visible rays,(d) Infra-red
rays

78. Optical fibre is used to transmit
heÇkeâeMeerÙe heâeFyej keâe heÇÙeesie efkeâmes mebÛeeefjle keâjves keâs efueS efkeâÙee peelee nw?
(a) X-rays,(b) laser beam,(c) gamma rays,(d) cosmic rays

79. In which of the following media does light have the lowest velocity?
efvecve ces mes efkeâme ceeOÙece ces heÇkeâeMe keâe Jesie vÙetvelece neslee nw?
(a) Air,(b) Water,(c) Kerosene,(d)  Glass

80. Archimedes Principle holds true for
Deeefkeâ&ceer[erpe keâe efveÙece efkeâmekeâs efueS melÙe neslee nw?
(a) solids only,(b) liquids only,(c) gases only,(d) fluids only

81. Which one of the following is not an operating system?
efvecve ces mes keâewve-mee Dee@hejsefšbie efmemšce vener nw
(a) MS-DOS,(b) UNIX,(c) Mac-OS,(d) Windows 3.x

82. Before  one can access information through Internet , the computer
must be equipped with a hardware device called
Fbšjvesš keâs ceeOÙece mes efkeâmeer metÛevee lekeâ heng@Ûeves mes henues keâchÙetšj ces Skeâ ne[&JesÙej
Ùev$e ueiee nesvee pe®jer nw efpemes keânles nw
(a) Mouse,(b) Modem,(c Multiplexer,(d) Printer

83. The chemical name for Vitamin C is
efJešeceerve C keâe jemeeÙeefvekeâ veece nw
(a) Formic acid,(b) Ethyl alcohol,(c) Ascorbic acid,(d) Tartaric acid

84. Dry ice is:
Meg<keâ yeheâ& nw
(a) Soild  sulphur dioxide,(b)  Solid nitrogen  dioxide,
(c) Solid ammonium chloride,(d) Solid carbon dioxide

85. The gas that smells  like rotten  eggs is
me[s ngS DeC[s pewmeer ievOe Jeeueer iewme nw
(a) Sulphur dioxide, (B) Nitrogen oxide,
(c) Hydrogen Sulphide,(d) Ammonia

86. The popular name of Cubic Zirconia is
keäÙetetefyekeâ efpekeâes&efveÙee keâe meeOeejCe veece nw
(a) Carborundum,(b) American diamond,
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(c) Ceramic,(d) Plaster of Paris
87. Which of the following eco-systems is not naturally occurring?

efvecve ces mes keâewve-meer heÇekeâ=eflekeâ ®he mes efJeIeceeve heeefjefmLeeflekeâ -lev$e vener nw?
(a) Mangrove forests, (b) National Parks,
(c) Marine parks, (d) Plantations

88. The natural environment refers to
heÇekeâ=eflekeâ heefjJesMe mevoefYe&le keâjlee nw
(a) the atmosphere in a forest ,
(b) the plants and animals in a forest ,
(c) the atmosphere of an area- a forest, a lake or an ocean,
(d) the living organism and non-living objects or factors in a area

undisturbed by human activity
89. The LPG is produced during refining of crude oil . Its major

components are
Sue. heer. peer. keâÛÛes lesue keâs heefj<keâjCe keâs oewjeve yeveleer nw~ Fmekeâs cegKÙe Ieškeâ nw
(a) methane and butane, (b) methane and ethane,
(c) propane and butane, (d) propane and methane

90. Albedo of a surface is defined as
efkeâmeer he=<" keâe Sefuye[es neslee nw
(a) refracted radiation / incident radiation,
(b) reflected radiation/ incident radiation,
(C) incident  radiation/ reflected  radiation,
(d) incident radiation/ refracted radiation

91. Who has taken the maximum number of wickets in test cricket?
šsmš efkeäÇâkeâsš ces meJee&efOekeâ efJekeâsš efkeâmeves efueS nw~
(a) Murlitharam,(b Kapil Dev,(C) Shane Warne,(d) Anil Kumble

92. ‘AGMARK’ is
‘Sieceekeâ&‘ nw
(a) a cooperative for production of eggs,
(b) a regulated  agricultural  market,
(c) an agrarian development market,
(d) a quality stamp for some commodities

93. First  Indian  train having ISO 9001 Certificate runs between
DeeF&. Sme. Dees -9001 heÇceeCe -he$e  Jeeueer henueer YeejleerÙe jsueiee[er Ûeueleer nw
(a) Hazrat Nizmuddin- Agra Cantt, (b) Hazrat Nizamuddin-
Habeebganj,(c) Delhi- Kolkata,(d) Delhi- Kota

94. ‘A secular Agenda’ is a book  written by
‘S meskeäÙettuej Spes[e‘ veecekeâ hegmlekeâ efkeâmeves efueKeer nw
(a) M.J. Akbar, (b) Prem Shankar Jha,
(c) Arun Shourie,(d) Mani Shankar Aiyar

95. Bandipur National Park is situated in the State of
yeeboerhegj je<š^erÙe heekeâ& efkeâme jepÙe ces efmLele nw
(a)  Kerala, (b) Karnataka,(c) Tamil Nadu,(d) None of these

96. Kalpakkam in Tamil Nadu these days is in the news for its
leefceue vee[g ces keâuehekeäkeâce Deepe -keâue efkeâme keâejCe mes ÛeÛee& ces nw?
(a) Thermal power Plant,(b) Hydel power plant,(c) Atomic power
plant,(d) none of the above

97. Gir forest is known for
ieerj Jeve efJeKÙeele nw
(a) Lions,(b) Deer,(c) Tigers,(d) Elephants

98. What is known as rock cotton?
je@keâ keâe@šve efkeâmes keânles nw?
(a) Asphalt,(b) Asbestos,(c) Gypsum,(d) Limestone

99. Which of the following combinations of the States and the festivals
mainly celebrated there is not correct?
jepÙees Deewj Jene@b cegKÙele : ceveeS peeves Jeeues GlmeJees keâs efvecve mebÙeespevees ces mes keâewve mee
mener vener nw?
(a) Rajasthan-Ganguar Teej,(c) Maharashtra- Ganesh Chaturthi,(c)
Uttar Pradesh –Krishna Janmashtami,(d) Gujarat- Durga Pooja

100. Who is the first non-Indian to receive the Bharat Ratna?
Yeejle jlve heeves Jeeuee henuee iewj -YeejleerÙe keâewve nw
(a) Martin Luther king,(b) mother Teresa,
(c) Khan Abdul Ghaffar Khan,(d) Zubin Mehta

PART-III. (QUANTITATIVE APTITUDE)
101. If (x-1) and (x-2) are two factors of 3 2x ax 14x b   then find the

value of a and b.

(x 1) (x 2) 3 2x ax 14x b  

a b
(a) 7,8 (b) -8, 7 (c) 7, -8 (d) -7, -8

102. If x b c a, y c a b, z a b c,         then find the value of (b-a)
x+(c-b) y+(a-c) z

x b c a, y c a b, z a b c,         (b a) x 

(c b) y (a c)z 

(a) 0 (b) -1 (c) 1 (d) None of these
103. n equidistant points A , A , A ,...A1 2 3 n are taken on base BC of

ABC . A B A A A C1 1 2 n  and area of AA A4 5 is k 2cm , then

what is the ara of ABC
ABC BC n A , A , A ,...A1 2 3 n

A B A A A C1 1 2 n  AA A4 5 k

ABC
(a) nk sq. cm. (b) (n+k) sq. cm (c) n/k sq. cm (d) (n+k)× sq.cm.

104. In ABC, A  is right angle and AD is perpendicular to BC. If
AD=4 cm, BC=12 cm, then find the value of (cot B+ Cot C)

ABC A AD,BC AD 4

BC 12 (cot B cot C)

(a) 6 (b) 3 (c) 4 (d) 3/2

105. If 4x 9 4x 9 5 7     then what the value of x ?

4x 9 4x 9 5 7     x
(a) 5 (b) 7 (c) 3 (d) 4

106. The length of two perpendicular chords of circle are respectively 2a
and 2b. If distnance of its point on intersection from the centre is c,
then what is the radius of circle?

2a 2b

c

(a)
2 2 2a b c  (b)

2 2 2a b c
2

 

(c)
2 2 2a b c

2
  (d)

2 2 2a b c
2

 

107. Area of two similar triangles are 196 cm and 256 cm 2 respectively. If
shortest side of the sorter triangle is 7 cm  then find the shortest side
of the larger triangle

196 256

(a) 14 (b) 16 (c) 8 cm (d) None of these

108. If XYZ 64   and XY is produced to point P. If YQ line bisects
ZYP . Then find the measure of PYQ

XYZ 64   XY P

YQ, ZYP PYQ

(a) 302º (b) 292º (c) 310º (d) 312º
109. An aeroplane is flying above a horizontal plane. The angle of

depression of two consecutive mile stones at plane in opposite
directions are  and  respectively. Find the height of aeroplane in
form of tan  and tan  (in km)

 

tan tan

(a)
tan tan
2 tan tan
  
 

(b)
2 tan . tan
tan tan

 
  

(c)
tan . tan

tan tan
 
  

(d) None of these
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110. A, B and C working together can do a piece of work in 10 days.
C works only for 3 days and 37% of work has been completed in 3
days. If A’s 5 days work is equal to B’s 4 day work, then find the time
in which they individually complete the whole work ?
A,B C C

A

B

(a) 30 days, 35 days, 45 days (b) 25 days, 20 days, 60 days
(c) 25 days, 20 days, 30 days (d) 60 days, 35 days, 45 days

111.
6 6sin cos
2 2sin cos

  

  
is equal to /

(a) 4 6sin cos   (b) 2 21 sin cos  

(c) 2 21 sin cos    (d) 2 21 3sin cos   
112. From two places, 60 km apart, A and B start towards each other

at the same time and meet each other after 6 hours. Had a travelled
with 2/3 of his speed and B travelled with double of his speed, they
would have met after 5 hours. Find the speed of A.

A B

A

2 / 3 B A

(a) 4 km/hrs (b) 6 km/hrs (c) 10 km/hrs (d) 12km/hrs
113. If m men working m hr per day, can do m units of work in m days,

then n men working n hr per day would be able to complete how
many units of work in n days ?

m m m m

n n n

(a)
3n
2m

(b)
3m
2n

(c)
4m
2n

(d)
4n
3m

114. Find the largest number that will divide 260, 720 and 145 leaving 7
as remainder in each case.

(a)30 (b) 16 (c) 23 (d) 25

115. Find the common factor of 43 43(41 43 ) and 41 41(41 43 )

43 43(41 43 ) 41 41(41 43 )

(a) 41 41(41 43 ) (b) 2 (c) 43 43(41 43 ) (d) 84
116. The height of a tree increases every year 1/8 times. If the present

height of the tree is 64 cm, what will be its height after 2 years ?

(a) 76 cm (b) 80 cm (c) 81 cm (d) 84 cm
117. There is sufficient food for 800 men for 62 days. After 56 days, 560

men leave the place.For how many days will the rest of the food last
for the rest of the men

(a) 16 days (b) 20 days (c) 30 days (d) 15 days
118. The difference between CI and SI on  a certain sum at r% per

annum for 2 years is Rs. x and the difference between CI and SI on a
certain sum at 4% for 3 years is Rs. 608. Then find the expression
for principal sum

f) r%

x f)

(a) Rs. 125000 (b) Rs. 120000 (c) 130000 (d) Rs. 122250
119. If diagonals of a rhombus are respectively 10 cm and 24 cm, find the

length of tis side?

(a) 15 cm (b) 13 cm (c) 17 cm (d) 10 cm
120. 6 litres are drawn from a cask full  of wine and it is then filled with

water. 6 litres of mixture are drawn and the cask is again filled with
water. The quantity of wine now left in the cask is to that of the
water in it as 121:23. How  much does the cask hold ?

121 : 23

(a) 54 litres (b) 62 litres (c) 70 litres (d) 72 litres
121. If 1 x 2,  then the value of 2 2(x 1) (x 3)   is

1 x 2,  2 2(x 1) (x 3)  

(a) -1 (b) 0 (c) 3 (d) -4

122. What is the maximum value of 6 6sin cos  

6 6sin cos  

(a) 1/4 (b) 1/2  (c) 1 (d) None of these
123. 3 cooks have to make 80 burgers. They are known to make 20

pieces every minute by working together. The first began working for
some time more than 3 minutes, and the remaining part of work was
done by 2nd and 3rd cook together and it takes a total of 8 minutes to
complete the whole work. Then find in how many minutes would it
take first cook alone to make 160 burgers.

(a) 32 min (b) 64 min (c) 4 min (d) 36 min
124. Find the volume of maximum size cube which can be inscribed in a

sphere of radius r.
r

(a)
3/22 3r

3
 
 
 

(b)
32 3r

3
 
 
 

(c)
3/23 3r

4
 
 
 

(d)
33 3r

4
 
 
 

125. If the selling price of an article is double then its loss percent is
converted in numerically equal profit percent. Then loss percent on
the article is

(a) 2
26 %

3
(b) 33% (c) 1

33 %
3

(d) 34%

126. A man sells his article at 20% gain. Had he purchased it for Rs.
100 less and sold it for Rs. 100 less than he would have gained 4%
more. Find cost price of article

(a) Rs. 500 (b) Rs. 600 (c) Rs. 400 (d)None of these
127. Deepak purchased a scooter at 13/15 of it selling price and sold it at

12% more than its selling price. Find his gain percent
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13 /15

(a) 20% (b) 30% (c)
1

38 %
3

(d)
3

29 %
13

128. If the radii of the circles with centres O and P as shown below are 4
and 2 cm respectively.Find the area of triangle ABC

O P

ABC
A

4
O

D

B

2 E
P

C
(a) 36 sq. cm (b) 62 sq. cm (c) 18 sq. cm (d) 48 sq. cm

129. Find the roots of th quadratic equation 23x 4x 2 0  
23x 4x 2 0  

(a) x does not have any real oot
x

(b) x 2 2  (c) x=2 and 3 (c) 2 2
x

3
 

130. If cos cos sin m,    find the value of cos  - sin 

(a) 22 m (b) 24 m (c) 22 m (d) 24 m
131. A and B enter into partnership and invest in stock market trading.

Their investments initially were Rs. 50000 and Rs. 45000. After 4
months A withdraws half his capital.At the end of 8 months B
withdraws half his caital and C joins them with a capital of Rs.
70000. What should be the ratio in which the profit will be divided at
the year end ?
A B

A

C

(a) 40:35:21 (b) 40:45:28 (c) 40:28:21 (d) None of these
132. The distance between two cities A and B is 330 km. A train starts

from A at 8 am and travels towards B at 60 km/hr. Another train
starts from B at 9 am and travels towards A at 75 km/hr. At what
time do they meet ?

A B ªsu A

B

ªu B A

(a) 10 am (b) 10:30 am (c) 11 am (d) 11:30 am
133. A merchant fixed the selling price of his articles at Rs.700 after

adding 40% profit on the cost price. As the sale was very low at this
price level, he decided to fix the selling pric at 10% profit. Find the
new selling price ?

(a) Rs. 500 (b0 Rs. 550 (c) Rs. 450 (d) Rs. 490
134. A and B together can do a work in 12 days. B and C together do it in

15 days. If A’s efficiency is twice that of C, then in how many days B
alone finish the whole work ?

A B B C

A C

B
(a) 60 days (b) 30 days (c) 20 days (d) 15 days

135. A trader wishes to gain 20% after allowing 10% discount on the
marked price to his customer. At what percent higher than the cost
price must he mark his goods ?

(a) 30% (b)
1

33 %
3

(c) 34
2

%
3

(d) 35%

136. The respective height and volume of hemisphere and a right circular
cylinder are equal, then the ratio of their radii is
)Z

(a) 2 : 3 (b) 3 :1 (c) 3 : 2 (d) 2 : 3
137. The perimeters of a circle, a square and an equilateral triangle are same

and their areas are C,S and T respectively.Which of the following
statement is true?

C,S T
(a) C=S=T (b) C>S>T (c) T<S<C (d) S<C<T

138. A horse takes
1

2
2

seconds to complete a round a circular field. If

the speed of the horse was 66 m/sec, then the radius of the field is
( 22 / 7) 

1
2

2

[ 22 / 7] 

(a) 25.62 m (b) 26.52 m (c) 25.26 m (d) 26.25 m
139. A contractor undertook to finish a piece of work in 150 days and he

employed 20 men, 30 women, 75 children in starting but at the end  of
60 days he finds that only 1/4th of the work has been done. Now he
dismissed all the women and 50 of the children and employed more men
then the work was completed 5 days before the fixed time. Assume 3
men can do as much as 5 women and 2 women can do as much as 3
children. Find additional men employed?

1 / 4

(a) 107 (B) 114 (c) 110 (d) 125.
140. A conical flask is full of water. The flask has baser radius r and height h .

This water is poured into a cylindrical flask of base radius m. find the
height of water in the cylindrical flask?

r

h

m

(a) 2mr / 2h (b) 2hr 2m
2

(c) 2h/m (d) 2 2hr / 3m

Directions 41-45: Study the graph carefully and answer the questions given
below.Total number of students in 6 different schools and percentage of girls is
given.
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141. What is the total number of boys in school T?
T

(a) 500 (b) 600 (c) 750 (d) 850
142. What is the average number of boys in schools P and Q together ?

P Q
(a) 1425 (b) 1575 (c) 1450 (d) 1625

143. What is the ratio of the numbers of girls schools P and Q?
P Q

(a) 27:20 (b) 17:21 (c) 20:27 (d) 21:17
144. Find the average number of students in all schools ?

(a) 2000 (b) 2500 (c) 1800 (d) None of these
145. Find the percent of girls students in all schools.

(a) 1
22 %

2
(b) 27.25% (c) 34.25% (d) None of these

146. Consider the earth as sphere of radius R find the radius of circle at
latitude 40ºS ?

R º

(a) R tan 40º (b) R  cos  40º (c) R cot 40º (d) R sin 40º
147. Two cars are moving with speed V , V1 2 towards a crossin along two

roads. If their distance from the crossing be 40 metres and 50
metres at an instant of time then they do not collide of their speed
are such that ?

V1 V2

(a) V : V 16 : 251 2  (b) V : v 4 : 51 2 

(c) V : V 5 : 41 2  (d) V : V 25 :161 2 

148. A polynomial is divided by (x-2) the remainder is 1 and when it is
divided by (x-3) the remainder is 2. What will be the remainder when
the polynomial is divided by 2(x 5x 6) 

(x 2)

(x 3)

2(x 5x 6) 

(a) x-1 (b) x-3 (c) x-2 (d) None of these
149. A milkman buys some milk. If he sells it at Rs. 50 litre, he loses Rs.

2000, but when he sells it at Rs. 60 a liter, he gains Rs. 1500. How
much milk did he purchase?

(a) 450 litre (b) 300 litre (c) 420 litre (d) 350 litre
150. The profit perent of two articles are same on selling each article at

Rs. 1800. On the first article profit is calculated on selling price and
on second it is calculated on cost price which is 20%. Then find
difference in their profit ?

(a) Rs. 75 (b) Rs. 60 (c) Rs. 90 (d) Rs. 50

ENGLISH LANGUAGE AND COMPREHENSION
Directions : In Question No. 151-155 to some of the sentence have errors
and some have none. Find out which part of a sentence has an error and
blacken the rectangle [  ] corresponding to the appropriate letter (A,B,C).
If there is no error, blacken the rectangle [  ] corresponding to (D) in the
answer sheet.
151. My friend si the most intelligent (a)/and also the very (b)/talented
student of his college. (c)/ No error (d).
152. Even the most perfect person (a)/ in the world I said to have (b)
/erred, when there was time to act. (c)/ no error (d)
153. Another baffling changes (a)/ that I noticed in him now a days (b)/
he avoids to speak to me(c)/ No error (d)
154. We generally select one (a)/ of the most intelligent student (b)/ of
the school for this award. (c)/ No error (d)
155. He would not have (a)/ died when you had (b)/ helped him in time.
(c)/ No error (d)
Directions : In question 156-160 sentence are given with blanks to be
filled in with an appropriate word(s). Four alternatives are suggested for
each question. Choose the correct alternative out of the four and indicate
it by blackening the appropriate rectangle [  ] in the answer sheet.
156. My mother upset the kettle of boiling water and …….. her right hand

badly.
(a) wounded (b) sizzled (c) scorched (d) scalded

157. The government is confident that the standard of living will begin to
……….. again soon.
(a) revive (b) lift (c) flourish (d) rise

158. Please do not……. An offer made by the chairman.
(a) refrain (b) refute (c) refuse (d) refuge

159. The problem of proliferation of nuclear arms is never going to be
solved unless the two super powers agree to …….
(a) a solution (b) understand each other (c) sit together (d) meet
half way

160. Let us take him upon his word. I see no room for any …….. in the
matter
(a) duplicity (b) deviation (c) cynicism (d) difference

Directions : In question No. 161-163 choose the word opposite in
meaning to the given word and mark it in the anwerhseet.
161. BASE

(a) roof (b) height (c) top (d) climax
162. DISSUADE

(a) incite (b) persuade (c) advise (d) instigate
163. NAÏVE

(a) cunning (b) wealthy (c) sophisticated (d) complicated
Directions : In question No. 114-116 out of four alternatives,
choose the one which best expresses the meaning of the given
word and mark it in the answesheet.
164. RADIANT
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(a) bright (b) beautiful (c) light (d) influential
165. PRUNE

(a) Lend (b) Reduce (c) Expand (d) Prolong
166. FLAK

(a) Adventrue (b) advice (c) criticism (d) praise
Directions 117-120 In question  four alternatives are given for
the idiom/phrase underlined in the sentence. Choose the
alternative which best expresses the meaning of the
idiom/phrase and mark it in the answer.
167. Some people do not grease anybody’s palm on any account.

(a) bribe (b) flatter (c) cheat (d) fight
168. I was so disappointed when my close friend left me in the lurch.

(a) went away without waiting for me (b) helped me in difficult times
(c) abandoned me when I needed help (d) stopped helping me in
emergency

169. His position in the company was on the brink of disaster.
(a) at the top of (b) at the point of (c) on the side (d) on the back

170. You have been cheating –now you must face the music.
(a) face the unpleasant consequences (b) stand upto unpleasant
consequences (c) be debarred (d) be insulted publicly

171. When she realized that she had bought a fake produt, she knew that
her money had gone down the drain.
(a) was lost forever (b) dropped in the drain (c) got worked away (d)
her money was safe

172. Even though the new clerk was given a difficult  task, the remained
cool as a cucumber.
(a) not nervous or emotional (b) caught cold (c) was happy (d) was
scared

Directions 123-127 In question out of the four alternatives, choose the
one which can be substituted for the given words/sentence and indicate if
by blackening the appropriate rectangle [  ] in the answersheet.
173. To surround with armed forces.

(a) seize (b) attack (c) cease (d) besiege
174. A person who wishes to throw over all establishments.

(a) Rebel (b) anarchist (c) terrorist (d) Hooligan
175. Seat on elephant’s back.

(a) saddle (b0 howdah (c) lounge (d) hoof
176. Forcing out (blood, etc.) from its vessel.

(a) extrapolate (b) extravasate (c) exuberate (d) extricate
177. A dramatic performance

(a) Mask (b) mosque (c) masque (d) mascot
Directions 178-190:
178. The boss said, “I shall look at the matter”.

(a) about (b) in (c) into (d) no improvement
179. I did nothing but laughed.

(a) laughing (b) laugh(c) laughed aloud (d) no improvement
180. Until the last twenty eight years he has been working in various units

of this plant.
(a) for (b) since (c) during (d) no improvement

181. Had Alizee been well, she could participate in the compeitition.
(a) would participate (b) would have participated
(c) will have participated (d) no improvement

182. Leave my arm, please.
(a) give up (b) let go (c) release (d) no improvement

183. If you would have remembered to bring the map, we would not have
lost our way.
(a) had remembering (b) remembered
(c) remembered (d) no improvement

184. You must carry on my order.
(a) carry out my order (b) carry away my order
(c) carry of (d) no improvement

185. Now I must beg leave of you
(a) beg your leave (b) beg of your leave
(c) beg off your leave (d) no improvement

186. The two thieves distributed the loot between themselves.
(a) among themselves (b) amongst themselves
(c) with themselves (d)no improvement

187. The decent from the mountain peak was slow and painful.
(a) descent (b) decline (c) decrease (d) No improvement

188. The preservation of peace is necessary.
(a) maintenance of peace (b) establishment of peace

(c) persuasion of peace (d) no improvement
189. The spirit of democracy had sped into our way of thinking.

(a) leaked into (b) permeated (c) soaked into (d) no improvement
190. The boat was drowned.

(a) was drown (b) was drowned (c) sank (d) no improvement
Directions : In question 191-200: you have 1 brief passage with 6
questions following each passage. Read the passage carefully
and choose the best answer to each question out of the four
alternatives and mark it in the answer sheet.
Though the US prides itself on being a leader in the world community, a
recent report shows that it lags far behind other industrialized countries in
meeting the needs of its youngest and most vulnerable citizens. The US
has a higher infant mortality rate, a higher proportion of low birth weight
babies, a smaller proportion of babies immunized against childhood
diseases and a much higher rate of adolescent pregnancies. These
findings, described as a ‘quiet crisis’ requiring immediate and far reaching
action, appeard ina  a report prepared by a task force  of educators,
dotors, politicians and business prople. According to the report, a fourth of
the nation’s 12 million infants and toddlers live in poverty. As many as half
confront  risk factors that Could harm their ability to develop intellectually,
physically and socially. Child immunizations are too low, more children are
born into poverty, more are in substandard care while their parents work
and more are beign raised by single parents. When taken together, these
and other risk factors can lead to educational and health problems that
are much harder and more costly to reverse.
The crisis begins in the womb with unplanned parenthood. Women with
unplanned pregnancie are less likely to seek pre-natal care. In the U.S.
80% of tenage pregnancie  and 56% of all pregnancies are unplanned.
The problems continue after birth where unplanned pregnancies and
unstable partnerships often go hand in hand. Since 1950, the number o
single parent families has nearly tripled. More than 25 percent of all births
today are to unmarried mothers. As the number of single parent families
grow and more women enter the work foce, infants and toddlers are
increasingly in the care of people other than their parents.
Most disturbingly, recent statistics show that American parents are
increasingly neglecting or abusing their children. In only four years from
1987-1991, the number of children in foster care increased by over 50
percent. Babies under the age of one are the fastest growing category of
children entering foster care. The crisis afftects children under the age of
three most severely, the report says. Yet, it is this period from infancy
through pre school years that sets the stage for a child’s future.
191. The main focus of the passage is on the plight of

(a) orphaned children (b) teenage mothers
(c) low birth weght babies (d) unwed mothers

192. Children falling in which age group are most severely affected by the
‘quiet crisis”
(a) below one year (b) below three years
(c) between two and three years between one and three years

193. Wich of the following does not constitute the ‘quiet crisis’ in the U.S.
as per the task force report ?
(a) Lower proportion of new born babies with normal weight
(b) Higher incidence of adolescent girls becoming mothers
(c) lower rate of babies surviving childhood diseases
(d) increasing cases of teenage couples getting divorced

194. Which of the following statements is not true in the context of the
passage?
(a) The number of single parent families today is approximately

three times more than four decades ago
(b) The number of children in the U.S. entering foster care has

decreased after 1991.
(c) In the U.S. the number of infants living in porverty is about 3

million
(d) only 20 percent of all the pregnancies in the U.S. are planned.

195. The number of children born to married mothers in the U.S. is
approximately how many times the number of children born to
unwed mothers ?
(a) 1.5 times (b) 2 times (c) 3 times (d) 3.5 times

196. Children born out of unplanned pregnancies are highly vulnerable
because
(a) they are raised by single parents (b) their parents are mostly poor
(c) they are mostly malnourished
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(d) they are less likely tor eceive prenatal care
197. Decide which of the following afactors is/are responsible for the

physical, intellectual and social under development of infants in the
U.S. ?
A. Illiteracy of parents B. Lack of parental care
C. Poverty
(a) only A (b) only B (c) only C (d) Both B and C

198. An increasing number of infants in the U.S. are in foster care on
account of
(a) an increasing number of single parent families with the female

member working
(b) an increasing number of women maintaining the status of

unwed motherhood and becoming economically independent

(c) an increasing number of employed couples who are required to
stay apart.

(d) an increasing number of women getting divorced and
abandoning their babies.

199. The task force report seems to be based on the data pertaining to
the period

(a) 1987 -1991 (b) 1950 onwards till date
(c) 1987 onwards date (d) 1950-1991

200. Choose the word which is mot nearly the same in meaning as the
given wrds as used in the passage
CONFRONT
(a) face (b) tolerate (c) succumb (d) eliminate


